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#1-6 Multiple Choice (9 points each)

1. Determine the convergence or divergence of the series Zn_z using the Integral Test.
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3. Using the Remainder Estimate for the Integral Test, find an ugser bound for the error using S3 as
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4, Determine if the infinite series is convergent or divergent. If convergent, find the sum. 2;'{;1 3\-/._;1-
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5. Determine if the sequence is convergent or divergent. If convergent, find the sum.
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#7-9 True/False (3 points each)
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10. Determine the convergence or divergence of the series Zn_
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11. Determine the convergence or divergence of the series using a telescoping series for

If convergent, find the sum.
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12. Determine the convergence or divergence of dx using the Comparison Theorem
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